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PROBABILITY

Practice Exercise

1. A single letter is selected at random from the word "PROBABILITY" . The

probability that it is a vowel is

A. 

B. 

C. 

D. 0

Answer: B

3

11

4

11

2

11

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ObrMcKPjUQF4


Watch Video Solution

2. A five-digit number is formed by the digit 1, 2, 3, 4, 5 without repetition.

Find the probability that the number formed is divisible by 4.

A. 

B. 

C. 

D. None

Answer: A

Watch Video Solution

1

5

6

5

4

5

3. Three identical dice are rolled. The probability that same number

appears on them, is

A. 
1

6

https://dl.doubtnut.com/l/_ObrMcKPjUQF4
https://dl.doubtnut.com/l/_nlru3eZ6S3P6
https://dl.doubtnut.com/l/_SpzbLtniEwTF


B. 

C. 

D. 

Answer: B

Watch Video Solution

1

36

1

18

3

28

4. A determinant is chosen at random from the set of all determinants of

order two with elements 0 or 1 only. Probability that the determinant

chosen has positive value is

A. 

B. 

C. 

D. None of these

Answer: B

1/8

3/16

1/4

https://dl.doubtnut.com/l/_SpzbLtniEwTF
https://dl.doubtnut.com/l/_jfS7ye0Fe1Hs


Watch Video Solution

5. From a well shufflied pacl of 52 playing cards , four cards are accidently

dropped . Find the probability that one card is missing from each suit .

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

1

256

2

20825

2197

20825

6. If three distinct number are chosen randomly from the first 100 natural

numbers, then the probability that all three of them are divisible by both

2
and 3 is
 
b. 
c. 
d. 4/25 4/35 4/33 4/1155

https://dl.doubtnut.com/l/_jfS7ye0Fe1Hs
https://dl.doubtnut.com/l/_MH5hm6LBEhLd
https://dl.doubtnut.com/l/_4yMvqrH2oTtY


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

4

55

4

35

4

33

4

1155

7. A four digit numbers is formed with the digits from 1, 2, 3, 4, 5 without

repetition. The probability that it is divisible by 3, is

A. 

B. 

C. 

D. 

Answer: C

1

3

1

4

1

5

1

6

https://dl.doubtnut.com/l/_4yMvqrH2oTtY
https://dl.doubtnut.com/l/_AEooFgdibe8O


View Text Solution

8. A and B stand in a ring along with 10 other persons. If the arrangement

is at random, then the probability that there are exactly 3 persons

between A and B, is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

1

11

7

324

5

162

5

81

9. One function is selected from all the functions  where 

 the probability that it is onto function, is

F : S → S,

S = {1, 2, 3, 4, 5, 6}.

https://dl.doubtnut.com/l/_AEooFgdibe8O
https://dl.doubtnut.com/l/_BJK8HuKDaltn
https://dl.doubtnut.com/l/_4J70bOZPc9NJ


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

5

324

7

324

5

162

5

81

10. There are 2 teams with n persons in each. The probability of selecting

2 persons from one team and 1 person from the other team is 6/7, then n

is equal to

A. 3

B. 4

C. 5

D. 6

https://dl.doubtnut.com/l/_4J70bOZPc9NJ
https://dl.doubtnut.com/l/_uyqMLLBMz58U


Answer: B

View Text Solution

11. … .  are fifty real numbers such that  for r = 1 ,2 ,

3 …….. , 49 . Five numbers out of these are picked up at random . The

probability that the five numbers have  as the middle number is :

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

x1, x2, x3 x50 xr < xr+ 1

x20

20C2 × 30C2

50C5

30C2 × 19C2

50C5

19C2 × 31C2

50C5

https://dl.doubtnut.com/l/_uyqMLLBMz58U
https://dl.doubtnut.com/l/_kA71SvSw0SvI


12. Two numbers are selected randomly from the set 

without replacement one by one. The probability that minimum of the

two
numbers is less than 4 is
 
b. 
c. 
d. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

S = {1, 2, 3, 4, 5, 6}

1/15 14/15 1/5 4/5

1

15

14

15

1

5

4

5

13. If the events A and B are mutually exclusive events such that P(A) =

 and P(B) = , then the set of possible real values of x lies in

the interval

A. 

3x + 1

3

1 − x

4

[0, 1]

https://dl.doubtnut.com/l/_VEYwc7ldgIoe
https://dl.doubtnut.com/l/_xjHIDbutkWQl


B. 

C. 

D. 

Answer: C

Watch Video Solution

[ , ]
1

3

2

3

[ − , ]
1

3

5

9

[ − , ]
7

9

4

9

14. An urn contains nine balls of which three are red, four are blue and

two are green. Three balls are drawn at random without replacement

from the urn. The probability that the three balls have different colour, is

A. 

B. 

C. 

D. 

Answer: B

1

3

2

7

1

21

2

23

https://dl.doubtnut.com/l/_xjHIDbutkWQl
https://dl.doubtnut.com/l/_brgKZ1en6QUV


Watch Video Solution

15. Three houses are available in a locality. Three persons apply for the

houses. Each applies for one house without consulting others. The

probability that all the three apply for the same house is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

7

9

8

9

1

9

2

9

16. If a number of two digits is formed with the digits 2, 3, 5, 7, 9 without

repetition of digits, then the probability that the number formed 35, is

https://dl.doubtnut.com/l/_brgKZ1en6QUV
https://dl.doubtnut.com/l/_A0vFFddeSSYd
https://dl.doubtnut.com/l/_ZHbsZa5mkYUa


A. 

B. 

C. 

D. None

Answer: B

View Text Solution

1

10

1

20

1

30

17. If the papers of 4 students can be checked by anyone of the 7 teachers,

then the probability that all the 4 papers are checked by exactly 2

teachers, is equal to

A. 

B. 

C. 

D. 

12

49

6

49

9

49

15

49

https://dl.doubtnut.com/l/_ZHbsZa5mkYUa
https://dl.doubtnut.com/l/_dA3PK8OWX49b


Answer: B

View Text Solution

18. If the word ‘UNIVERSITY’ is arranged randomly, then the probability

that both ‘I’ are not together, is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3

5

2

5

4

5

3

5

19. If 6 objects are distributed at random among 6 persons, then the

probability that atleast one person does not get any object, is

https://dl.doubtnut.com/l/_dA3PK8OWX49b
https://dl.doubtnut.com/l/_Z4G9VRqovSjw
https://dl.doubtnut.com/l/_1AFCK4OKJTiP


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

313

324

315

322

317

324

319

324

20. The probability of not getting a sum of 7 in a single throw with a pair

of dice, is

A. 

B. 

C. 

D. 

Answer: D

1

6

2

3

1

3

5

6

https://dl.doubtnut.com/l/_1AFCK4OKJTiP
https://dl.doubtnut.com/l/_Q8IVKRbHJqbc


Watch Video Solution

21. The events  have probabilities  respectively.

If the probability that both  occur simultaneous is  Then

the probability that neither  nor  occurs is

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

E1 and E2 0.25 and 0. 50

E1 and E2 0. 14.

E1 E2

0. 39

0.25

0.11

22. Four persons are selected at random from a group of 3 men, 2 women

and 4 children. What is the chance that exactly two of them are children?

https://dl.doubtnut.com/l/_Q8IVKRbHJqbc
https://dl.doubtnut.com/l/_wgaJv1GVHZ4Z
https://dl.doubtnut.com/l/_Frtm0qgIRfr8


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

9/21

10/23

11/24

10/21

23. A coin is tossed 3 times by 2 persons. The prbability that both get

equal number of heads, is

A. 

B. 

C. 

D. None

Answer: C

3

8

1

9

5

16

https://dl.doubtnut.com/l/_Frtm0qgIRfr8
https://dl.doubtnut.com/l/_m7bsMVWAMNxF


Watch Video Solution

24. A bag contains 30 balls numbered from 1 to 30. One ball is drawn at

random. Find the probability that the number of the ball drawn will be a

multiple of 3 or 7.

A. 

B. 

C. 

D. None

Answer: C

Watch Video Solution

14

30

40

900

13

30

25. The probability that a leap year selected ar random contains either 53

sundays or 53 mondays, is

https://dl.doubtnut.com/l/_m7bsMVWAMNxF
https://dl.doubtnut.com/l/_2jbYDqdD4D2T
https://dl.doubtnut.com/l/_BiK21T42zuXV


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2

7

4

7

3

7

1

7

26. For the three events

and

Then, find the probability of occurrence of at least one of the three

events 

A. 

B. 

A, B, andC, P(e x a c t l yo n eo ft h ee v e n t sAorBo c c u r s) = P(e x a c t

= p

P(a l lt h et h r e ee v e n t so c c u rs i m u l t a n e o u s l y) = p2, w h e r e0

A, B, andC.

3ρ + 2ρ2

2

ρ + 3ρ2

4

https://dl.doubtnut.com/l/_BiK21T42zuXV
https://dl.doubtnut.com/l/_UzabFA7dkGVU


C. 

D. 

Answer: A

Watch Video Solution

ρ + 3ρ3

2

3ρ + 2ρ2

4

27. A, B, C are avents such that 

 


then  lies in the interval

A. 

B. 

C. 

D. None of these

Answer: A

Vi T t S l ti

Pr(A) = 0.3, Pr(B) = 0. 4, Pr(C) = 0.8

Pr(AB) = 0. 08, Pr(AC) = 0. 28 and Pr(ABC) = 0.09. IfPr(A ∪ B ∪ C)

Pr(BC)

0. 23 ≤ x ≤ 0. 48

0. 25 ≤ x ≤ 0.30

0. 49 ≤ x ≤ 0.74

https://dl.doubtnut.com/l/_UzabFA7dkGVU
https://dl.doubtnut.com/l/_OBHXPuN0Qh3v


View Text Solution

28. If A and B are two events, then the probability that exactly one of

them occurs, is given by

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

P (A) + P (B) − 2P (A ∩ B)

P (A ∩ B) − P (A' ∩ B)

P (A ∪ B) + P (A ∩ B)

P (A' ) + P (B' ) + 2P (A' ∩ B)

29. The probability that in the toss of two dice we obtain an even sum or

a sum less than 5 is

A. 
1

2

https://dl.doubtnut.com/l/_OBHXPuN0Qh3v
https://dl.doubtnut.com/l/_EIQtJ6adKxMC
https://dl.doubtnut.com/l/_8mqMzc4fbhc4


B. 

C. 

D. 

Answer: D

Watch Video Solution

1

6

2

3

5

9

30. A number is chosen at random among the first 120 natural numbers.

The probability of the number chosen being a multiple of 5 or 15 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1

8

1

5

1

24

1

6

https://dl.doubtnut.com/l/_8mqMzc4fbhc4
https://dl.doubtnut.com/l/_lOcXv5OnsK7C


31. For any two events A and B, if  then

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

P (A ∪ B) = P (A ∩ B,

P (A) = P (B)

P (A) > P (B)

P (A) < P (B)

32. For any two independent events

 is

A. 

B. 

C. 

E1 and E2, P{(E1 ∪ E2) ∩ ( ¯̄̄E 1 ∩ ¯̄̄E 2)}

<
1

4

>
1

4

≥
1

2

https://dl.doubtnut.com/l/_lOcXv5OnsK7C
https://dl.doubtnut.com/l/_U3AXazK9UgLO
https://dl.doubtnut.com/l/_lPyZKvhL881L


D. None

Answer: A

View Text Solution

33. Five horses are in race. Mr. X selected two of horses at random and

bets on them. The probability that Mr. X selected the winning horse is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

4

5

3

5

1

5

2

5

https://dl.doubtnut.com/l/_lPyZKvhL881L
https://dl.doubtnut.com/l/_fZlh6l3586Wz


34. . A bag contains 3 red and 3 white balls. Two balls are drawn one-by-

one. The probability that they are of different colours, is

A. 

B. 

C. 

D. None

Answer: C

Watch Video Solution

3

10

2

5

3

5

35. Let X be a set containing n elements. Two subsets A and B of X are

chosen at random, the probability that  is

A. 

B. 

C. 

A ∪ B = X

2nCn /22n

1 / 2nCn

1.3.5...(2n − 1)2n. n !

https://dl.doubtnut.com/l/_UwPyaGYSwp5r
https://dl.doubtnut.com/l/_7rKFTG3lUMLc


D. 

Answer: D

Watch Video Solution

(3/4)n

36. In a hurdle race, a runner has probability  of jumping over a specific

hurdle. Given that in  trials, the runner succeeded  times, the

conditional probabilit that the runner had succeeded in the first trial is

A. 

B. 

C. 

D. None

Answer: A

Watch Video Solution

p

5 3

3

5

2

5

1

5

https://dl.doubtnut.com/l/_7rKFTG3lUMLc
https://dl.doubtnut.com/l/_8EL9rRELZH4V
https://dl.doubtnut.com/l/_9hX5dMbIascf


37. A committee of 4 students is selected at random from a grourp

consisting of 8 boys and 4 girls. Given that there
is at least one girl in the

committee, calculate the probability that there
 are exactly 2 girls in the

committee.

A. 

B. 

C. 

D. None

Answer: D

Watch Video Solution

7

99

13

99

14

99

38. If one Indian and four American men and their wives are to be seated

randomly around a circular table. Then, the conditional probability that

the Indian man is seated adjacent to his wife given that each American

man is seated adjacent to his wife, is

https://dl.doubtnut.com/l/_9hX5dMbIascf
https://dl.doubtnut.com/l/_2YY0x9haHLCy


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

1

2

1

3

2

5

1

5

39. It is given that the events A and B are such that

. Then  is

A. 

B. 

C. 

D. 

Answer: C

P (A) = , P( ) = and P( ) =
1

4

A

B

1

2

B

A

2

3
P (B)

1

2

1

6

1

3

2

3

https://dl.doubtnut.com/l/_2YY0x9haHLCy
https://dl.doubtnut.com/l/_0MNIubDrUB1d


Watch Video Solution

40. If  then 

 is equal to

A. 

B. 

C. 

D. 1

Answer:

Watch Video Solution

P (A) = , P (B) = and P (A ∩ B) = ,
2

5

3

10

1

5

P( ). P( )
A'

B'

B'

A'

5

9

5

7

25

42

41. If A and B are two events such that

 then  is equal to

A. 

P (A) = P (B) = , P( ) = ,
1

2

1

3

A

B

1

4
P (A' ∩ B' )

1

12

https://dl.doubtnut.com/l/_0MNIubDrUB1d
https://dl.doubtnut.com/l/_2xsfxIUNpKwQ
https://dl.doubtnut.com/l/_ghaqjg8zWBDN


B. 

C. 

D. 

Answer: C

Watch Video Solution

3

4

1

4

3

16

42. If  then 

 is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

P (A) = , P (B) = and P (A ∪ B) = ,
3

10

2

5

3

5

P( ) + P( )
B

A

A

B

1

4

1

3

5

12

7

12

https://dl.doubtnut.com/l/_ghaqjg8zWBDN
https://dl.doubtnut.com/l/_tT5zeHki217y


43. If two events A and B are such that  then 

 is equal to

A. 1

B. 

C. 

D. None of these

Answer: A

View Text Solution

0 < P (A), P (B) < 1

P( ) + P( )
A

B

¯̄̄A

¯̄̄B

3

2

1

2

44. A purse contains 4 copper coins, 3 silver coins, the second purse

contains 6 copper coins and 2 silver coins. A coin is taken out of any

purse, the probability that it is a copper coin is

A. 
4

7

https://dl.doubtnut.com/l/_tT5zeHki217y
https://dl.doubtnut.com/l/_FTzefNuA94yn
https://dl.doubtnut.com/l/_6NVZw3QmhgQk


B. 

C. 

D. 

Answer: B

Watch Video Solution

37

56

3

7

3

4

45. Bag A contains 2 white and 3 red balls and bag B contains 4 white and

5 red balls. One ball is drawn at random from one of the bags and is

found to be red. The probability that it was drawn from the bag B is

A. 

B. 

C. 

D. None of these

Answer: C

5

9

4

9

25

52

https://dl.doubtnut.com/l/_6NVZw3QmhgQk
https://dl.doubtnut.com/l/_RaUO9MVggDWr


View Text Solution

46. The chance of defective screws in three boxes


respectively. A box is selected at random and

a screw draw
in from it at random is found to be defective. Then find the

probability that
it came from box 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A, B, Care1/5, 1/6, 1/7,

A.

16

29

1

15

27

59

42

107

47. In three throws of two dice, the probability of throwing doublets not

more than twice is

https://dl.doubtnut.com/l/_RaUO9MVggDWr
https://dl.doubtnut.com/l/_AD0sZajq6QQD
https://dl.doubtnut.com/l/_95JVB5FM7BsV


A. 

B. 

C. 

D. None

Answer: C

View Text Solution

1/6

5/72

215/216

48. 
 are two independent events. The probability that both 


occur is 1/6 and the probability that neither of them occurs is 1/3.

Find the probability of the occurrence of 

A. 

B. 

C. 

D. None

AandB

AandB

A.

,
1

2

1

3

,
1

3

1

4

,
1

2

1

4

https://dl.doubtnut.com/l/_95JVB5FM7BsV
https://dl.doubtnut.com/l/_hPgeizGZvbeG


Answer: A

Watch Video Solution

49. The probability that a 50 year old man will be alive at 60 is 0.83 and

the probability that a 45 year old woman will be alive at 55 is 0.87. The

probability that atleast one of the will be alive ten years hence, is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

0.221

0779

0.669

0.758

https://dl.doubtnut.com/l/_hPgeizGZvbeG
https://dl.doubtnut.com/l/_iJu55l0KYbkS


50. The probability that any of the men  is alive after 95

years of age is  The probability that  will die at the age of 95 and

will be the first to die is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

A1, A2, A3, A4

.
1

2
A1

15

16

15

64

1

4

8

15

51. A man throws a fair coin number of times and gets 2 points for each

head and 1 point
for each tail the probability that he gets exactly 6 points

is
 
(2) 
(3) 
(4) 

A. 

21

32

13

64

43

64

23

32

21

32

https://dl.doubtnut.com/l/_STR6uy9hd0jT
https://dl.doubtnut.com/l/_IMFtEDYp7xGZ


B. 

C. 

D. 

Answer: D

Watch Video Solution

23

32

41

64

43

64

52. There are 5 bails numbered 1 to 5 and 5 boxes numbered 1 to 5. The

balls are kept in the boxes one in each box. The probability that exactly 2

balls are kept in the corresponding numbered boxes and the remaining 3

bails in the wrong boxes, is

A. 

B. 

C. 

D. 

1

5

1

6

1

10

1

12

https://dl.doubtnut.com/l/_IMFtEDYp7xGZ
https://dl.doubtnut.com/l/_32Zi6fjYmFR1


Answer: B

Watch Video Solution

53. A draws two cards at random from a pack of 52 cards. After returning

them to the pack and shuffling it, B draws two cards at random. The

probability that their draws contain exactly one common card is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

25

546

50

663

25

663

24

563

https://dl.doubtnut.com/l/_32Zi6fjYmFR1
https://dl.doubtnut.com/l/_CcrQwVNKQuZt


54. A, B, C try to hit a target simultaneously but independently. Their

respective probabilities of hitting the target are . The

probability that target is hit by A or B but not by C is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

, ,
3

4

1

2

5

8

21

64

7

8

7

32

9

64

55. Let A and B be two events such that

 where  stands for

complement of event A. Then, events A and B are

A. mutually exclusive and independent

P¯̄¯̄¯̄¯̄¯̄¯̄¯(A ∪ B) = , P (A ∩ B) = and P( ¯̄̄A) =
1

6

1

4

1

4
¯̄̄A

https://dl.doubtnut.com/l/_HwSk5u8sFPSL
https://dl.doubtnut.com/l/_sNaVJjH0uQ56


B. independent but not equally likely

C. equally likely but not independent

D. equally likely and mutually exclusive

Answer: B

View Text Solution

56. A bag contains 17 tickets numbered 1 to 17. A ticket is drawn and

replaced, then one more ticket is drawn and replaced. Probability that

first number drawn is even and second is odd, is

A. 

B. 

C. 

D. 

Answer: B

82/289

72/289

64/289

63/280

https://dl.doubtnut.com/l/_sNaVJjH0uQ56
https://dl.doubtnut.com/l/_EPJctRHKrIeE


View Text Solution

57. Three letters are to be sent to different persons and addresses on the

three envelopes are also written. Without looking at the addresses, the

probability that the letters go into the right envelope is equal to

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

1

27

1

9

4

27

1

6

58. A fair coin is tossed repeatedly. If tail appears on first four tosses, then

the probability of head appearing on fifth toss is equal to

https://dl.doubtnut.com/l/_EPJctRHKrIeE
https://dl.doubtnut.com/l/_x1O4c0xF2LOf
https://dl.doubtnut.com/l/_vP6ShccfFRlA


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1

2

1

32

31

32

1

5

59. A die is thrown and a card is selected at random from a deck of 52

playing cards. The probability of getting an even number on the die and a

spade card is

A. 

B. 

C. 

D. 

1

2

1

4

1

8

3

4

https://dl.doubtnut.com/l/_vP6ShccfFRlA
https://dl.doubtnut.com/l/_msHzlSKEroMB


Answer: C

Watch Video Solution

60. If A and B are two independent events such that

 then the value of  is

A. 1

B. 

C. 

D. 

Answer: C

View Text Solution

P (A) = , P(¯̄̄B) = α and P (A ∪ B) = ,
7

10

4

5
α

5/7

2/7

1/4

61. In a throw of a dice the probability of getting one in even number of

throw is

https://dl.doubtnut.com/l/_msHzlSKEroMB
https://dl.doubtnut.com/l/_63dZH5ZfNUHK
https://dl.doubtnut.com/l/_7xqTojXeGC0b


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

5

36

5

11

6

11

1

6

62. . Two aeroplanes I and II, bomb a target in succession. The

probabilities of I and II scoring a hit correctly are 0.3 and 0.2, respectively.

The second plane will bomb only, if the first misses the target. The

probability that the target is hit by the second plane, is

A. 

B. 

C. 

D. 

0.06

0.14

0.32

0.7

https://dl.doubtnut.com/l/_7xqTojXeGC0b
https://dl.doubtnut.com/l/_BkT9kyIPOgp3


Answer: C

View Text Solution

63. A discrete random variable X has the following probability distribution

 

The value of C and the mean of the distribution are

A. 

B. 

C. 

D. None of these

Answer: A

View Text Solution

and 3.66
1

10

1/20 and 2. 66

1/15 and 1.33

https://dl.doubtnut.com/l/_BkT9kyIPOgp3
https://dl.doubtnut.com/l/_L23n1Zq6N1An


64. A random variable X has the probability distribution 

For the events E = {X is a prime number} abd  is 


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

F = {X < 4}, P (E ∪ F )

0.87

0.77

0.35

0.50

65. If  of bolts produced by a machine are defective, then the

probability that out of a sample selected at random, of 7 bolts, not more

than 1 is defective, is

10 %

https://dl.doubtnut.com/l/_k2ASgJAaYiez
https://dl.doubtnut.com/l/_U3E1hW6zuLST


A. 

B. 

C. 

D. None

Answer: B

View Text Solution

(16)6(0.9)4

(0.9)6(1.6)

(1.6)4(0.9)4

66. If the mean and variance of a binomial variate X are α and 1

respectively, then the probability that X takes a value greater than one

equal to

A. 

B. 

C. 

D. 

13/16

12/16

9/16

11/16

https://dl.doubtnut.com/l/_U3E1hW6zuLST
https://dl.doubtnut.com/l/_jd4o6csf3Vfh


Answer: D

View Text Solution

67. An unbiased coin is tossed n times. Let X denote the number of times

head occurs. If  are in A.P, then the

value of n can be

A. 13

B. 7

C. 11

D. 12

Answer: B

Watch Video Solution

P (X = 4), P (X = 5) and P (X = 6)

https://dl.doubtnut.com/l/_jd4o6csf3Vfh
https://dl.doubtnut.com/l/_XZh7QAflha9a


68. The mean and varaince of binomial distribution are 4 and 3,

respectively. Then, the probability of getting exactly six success in this

distribution is

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

16C6( )
10

( )
6

1

4

3

4

16C6( )
6

( )
101

4

3

4

12C6( )
10

( )
61

4

3

4

69. A multuple choice examination has 5 questions. Each questions has

three alternative answers of which exactly one is correct. The probability

that a student will get 4 or more correct answers just be guessing, is

A. 
17

35

https://dl.doubtnut.com/l/_6D9hxdqwQAth
https://dl.doubtnut.com/l/_hc5Jwwyis5x0


B. 

C. 

D. 

Answer: C

Watch Video Solution

13

35

11

35

10

35

70. A die is rolled 20 times . Getting a number greater than 4 is a success. 

Find the mean and variance of the number of successes .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

6.6, 4.4

6.5, 4.5

6.3, 4.3

6.2, 4.2

https://dl.doubtnut.com/l/_hc5Jwwyis5x0
https://dl.doubtnut.com/l/_fevTPHtPBjEM


71. A fair coin is tossed a fixed number of times. If the probability of

getting seven heads is equal to that of getting nine heads, the

probability of getting two heads, is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

15

28

2

15

15

213

4

9

72. A die is thrown 100 times, getting an even number is considered a

success. The variance of the number of successes is

A. 10

https://dl.doubtnut.com/l/_fevTPHtPBjEM
https://dl.doubtnut.com/l/_gACQoPGubdAD
https://dl.doubtnut.com/l/_jf3D4vCjoj7Z


B. 25

C. 18

D. 10

Answer: B

Watch Video Solution

73. A die is thrown 100 times, getting an even number is considered a

success. The variance of the number of successes is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

1

4

5

8

1

2

1

6

https://dl.doubtnut.com/l/_jf3D4vCjoj7Z
https://dl.doubtnut.com/l/_QG5VadWhCdsb


Bitset Archives

1. 5 persons A, B, C, D and E are in a queue of a shop. The probability that

A and E always occur together, is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

4

2

3

2

5

3

5

2. The probability of simultaneous occurrence of at least one of two

events A and B is p. If the probability that exactly one of A, B occurs is q

then prove that P (A) + P (B) = 2 − 2p + q.

https://dl.doubtnut.com/l/_QG5VadWhCdsb
https://dl.doubtnut.com/l/_wXGSwYNGflPl
https://dl.doubtnut.com/l/_oxW9BhzlJpj2


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2 − 2p + q

2 + 2p − q

3 − 3p + q

2 − 4p + q

3. If A and B are two events such that

 then  equal to

A. 

B. 

C. 

D. 

Answer: C

P (A) = 0.6, P (B) = 0.2 and P( ) = 0.5,
A

B
P( )

A'

B'

1

10

3

10

3

8

6

7

https://dl.doubtnut.com/l/_oxW9BhzlJpj2
https://dl.doubtnut.com/l/_8mWlC0b05MM8


Watch Video Solution

4. A bag contains 3 white and 5 black balls. One ball is drawn at random.

Then, the probability that it is white, is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

1

8

3

8

5

8

3

5

5. For any two events A and B if

 then P (A) is

A. 

P (A ∪ B) = 5/6, P (A ∩ B) = 1/3, P (B) = 1/2

1/2

https://dl.doubtnut.com/l/_8mWlC0b05MM8
https://dl.doubtnut.com/l/_ndDcBmsWOCK7
https://dl.doubtnut.com/l/_VVFLyHheryZ0


B. 

C. 

D. None of these

Answer: A

View Text Solution

2/3

1/3

6. If  and  are probabilities of mutually exclusive

events of a random experiment then the range of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

,
1 + 3p

3

1

4

1 − 2p

2

p

≤ p ≤
1

3

1

2

≤ p ≤
1

4

1

2

≤ p ≤
1

3

2

3

≤ p ≤
1

3

2

5

https://dl.doubtnut.com/l/_VVFLyHheryZ0
https://dl.doubtnut.com/l/_UgBNZXGxsg5w


7. If A and B are two events such that P(A) = 3/4 and P(B) = 5/8, then

A. 

B. 

C. 

D. All of these

Answer: B

Watch Video Solution

P (A ∪ B) ≥ 3/4

P (A' ∩ B) ≤ 1/4

≤ P (A ∩ B) ≤
3

8

5

8

8. A die is tossed twice. The prbability of having a number greater than 4

on each toss is

A. 

B. 

C. 

1

3

1

9

2

3

https://dl.doubtnut.com/l/_UgBNZXGxsg5w
https://dl.doubtnut.com/l/_tkptMSTLYCyS
https://dl.doubtnut.com/l/_4dVmDh1fa8Iz


D. 

Answer: B

Watch Video Solution

1

12

9. The probability that a leap year selected at random will contain either

53 Thursday or 53 Friday is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3/7

2/7

5/7

1/7

https://dl.doubtnut.com/l/_4dVmDh1fa8Iz
https://dl.doubtnut.com/l/_x9eltHzu3GII


10. The unbiased dice is tossed until a number greater
 than 4 appear.

What is the probability that an even number of tosses is
needed?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1

2

2

5

1

5

2

3

11. If mean and variance of a Binomial variate X are 2 and 1 respectively,

then the probability that X takes a value greater than 1 is:

A. 

B. 

C. 

5

16

8

16

11

16

https://dl.doubtnut.com/l/_Yh591inYGgGE
https://dl.doubtnut.com/l/_44UeTBXeR98k


D. 

Answer: C

Watch Video Solution

1

16

12. If  are independent events of a random experiment such that

 then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A and B

P (A ∩ B) = and P( ¯̄̄A ∩ ¯̄̄B) =
1

6

1

3
P (A) =

1

4

1

3

5

7

1

16

https://dl.doubtnut.com/l/_44UeTBXeR98k
https://dl.doubtnut.com/l/_M3HT6vI7n1iu


13. For  the box  contains k red balls and  white balls.

Let .A box is selected at

random and a ball is drawn from it. If a red ball is drawn, then the

probability that it has come from box , is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

k = 1, 2, 3 Bk (k + 1)

P (B1) = , P (B2) = and P (B3) =
1

2

1

3

1

6

B2

35

78

14

39

10

13

12

13

14. The probility that the same number appear on throwing three dice

simultaneously is

A. 
1

36

https://dl.doubtnut.com/l/_JdbFOHQKUhHU
https://dl.doubtnut.com/l/_Q7m3vghDrqdm


B. 

C. 

D. 

Answer: A

Watch Video Solution

5

36

1

6

4

13

15. A coin is tossed n times. The probability of getting head at least once

is greater than  Then the least value of n is

A. 2

B. 3

C. 5

D. 4

Answer: B

Watch Video Solution

0.8.

https://dl.doubtnut.com/l/_Q7m3vghDrqdm
https://dl.doubtnut.com/l/_zkmEAFvZ4eFg


16. Let A and B be two events and

 then  is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

P (A' ) = 0.3, P (B) = 0.4, P (A ∩ B' ) = 0.5, P (A ∪ B' )

0.5

0.8

1

0.1

https://dl.doubtnut.com/l/_zkmEAFvZ4eFg
https://dl.doubtnut.com/l/_Iaq4Ui6shkB5

